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Add: (Show all work)

(10X° - 2xy -5X + 14y?) + (-4x° + 8xy + 1x + 5y?)



Hey, check your
homework from the
back of the textbook.



Things you already know...

18 -5 13

Add the opposite

11-(-5
1 (D)
b

-18-((}11)
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You Try P Cemming tva s

ek chave
(205 + 12x - 7) 1 (13%* 2)
AOx? +12x T —13¢ +2.
Yo — 2 + 0y Tt

T+ I



il (Bx-ax+2Y-8x2-0x+2)
< 6(2 Yy 12 + BX 2 =d
(axa -\-Sx"‘ —Ux +9x +73 -

My 4+ DX

e Ya

Remove to
' reveal
the answer:



Example 3.

The height of a ball kicked on Earth can be modelled by: 18 + 35t - 4.9t
On Mars the height is modelled by: 52 + 26t - 1.3t
Find a formula for the difference in the height of the ball on Mars as

compared to Earth.
Mars - Earth

(52 + 26t - 1.3t%) - (18 + 35t - 4.9t)

52 + 26t - 1.3t> - 18 - 35t + 4.9t

4.9t% - 1.3t -18 + 52

3.6t + 34



Page 234 - 236

(No algebra tiles just combine
like terms and subtract)

#7 o c
#8a,c, f, h
#9a,b
#13a, b
#15 ¢
#16a

HOMEWORK
/GHLIGHTS

10
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